7.

ird fel hatvanyalakba!
(Nem kell szorzatalakban felirni, és nem kell
az értékét kiszamitani!)

a) 5°-5*= b) 3+~ 3% =
c)22-2'-2= d) 10° - 10* =
e) 2—;= f) Z_ij:

g fi: h) z_f:

) (2°) = H ()=
k) (10°) = 1 (82) =

ird fel hatvanyalakba!
(Nem kell szorzatalakban felirni, és nem kell
az értékét kiszamitani!)

a) ¥ 5=, b) 33 =
0)23‘2]'232 d)103.104:
6' 8[2
e) P f) P
12" 9’
T h) —=
g) T ) %
§ (27 = i (32) =

Ird fel hatvanyalakba!
(Nem kell szorzatalakban felirni, és nem kell
az értékét kiszamitani!)

a) 5°-5*= b) 3+~ 3% =
c)22-2'-2°= d) 10° - 10* =
e) 2—;= f) z_::

g fl: h) g_j:

) (2°) = H ()=
k) (10°) = ) (8) =

ird fel hatvanyalakba!
(Nem kell szorzatalakban felirni, és nem kell
az értékét kiszamitani!)

a) 55 = b)3*- 3=
€) 22212 = d) 10° - 10° =
NS <

- o
) 137 b 5=
) (%) = N T =
k) (10°) = ) (82) =



3. Szamitsd ki!
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